ZS\VC

Stainless Steel Cylinder

Series CJ5-S/series CG5-S

210, 216 220, 925, 232, 40, 250, 63, 80,0100

For use in environments with water splashing such as food processing machines



Stainless Steel Cylinder

Series CJ5-S/series CG5-S

210, 216 220, 025, 032, 340, 350, 063, 280, 3100

grease for food processing machines
roved by NSF-H1)

-@ jal scraper (standard)
2nts water from entering

e cylinder.

Relationship of liquid entry and sliding distance

3 15 X

g

f 1

[} "

-'§_ 10~ + / Standard cylinder

k) g Stainless steel cylinder

= 50,

= '

Q 1

£ '

< Y | | | | | |

0 50 100 150 200 250 300
Sliding distance [km]

Conditions
Working fluid ...... Air = [}
Pressure ........... 0.5 MPa
Liquid ............... Water-soluble coolant =1
Piston speed ..... 200 mm/sec (60 cpm)

ypes of seal material
or FKM can be selected to
accommodate the application.

(Nitrile rubber) (Fluoro rubber)

e disassembled (Series CG5-S 220 to 40)

ement of seals promotes an extended service life.
efore disassembly, be sure to see the section regarding
maintenance under "Specific Product Precautions" on page 18.)

This product cannot be used in the food zone. Refer to the Product Specific Precautions (page 18) for details.

Features 1 %SNC



Applicable for use in environments with
water splashing such as food processing, etc.

inless steel specification (external parts)

less steel (SUS304) is used for external metal parts.
Corrosion resistance is improved even in environments with
exposure to water.

ior configuration reduces

ual liquid

* Electropolishing of mounting bracket
surfaces makes them smoother to

prevent build-up of liquids and foreign
matter.

* Plugs are provided for unused mounting
threads (Series CG5-S) to prevent
residue build-up in the threads.

Series Variations

Bore sizes [mm] l

Series Seal materials
16 20 25 32 40 50 63 80 100 I

CJ5-S --—C

NBR

FKM

cas-s ¢

SMC Features 2

O



Without Auto Switch

Stainless Steel Cylinder

Series CJ5-

210

, 016

Bore size ¢
10 | 10mm
16 | 16 mm
Mounting ¢

B Basic type

L Axial foot type

F Front flange type

D | Double clevis type

* Foot/Flange brackets are

shipped together with the

product, but not

assembled.

CJ5

1
ERERSEE] CDJ5

With auto switch l T

(built-in magnet)

How to Order

Cylinder stroke [mm]
Refer to “Standard Stroke” on page 2.

L|[16

60

||

16

60

M9BA

Stainless steel cylinder

Seal material ®

R

NBR

Vv

FKM

l Number of
auto switches

2 pcs.

S

1 pc.

n

n" pcs.

o Auto switch type/Band mount type

B Without auto switch (built-in magnet)

M9BA

D-M9BA (water resistant)

Available only with band mount type.

e Head cover port position

Perpendicular to axis

R

Axial direction

= Only perpendicular to the axis
for double clevis type.

Applicable Auto Switches/Refer to pages to Auto Switch Guide for further information on auto switches.

- - Load voltage | Auto switch model Lead wire length (m)*

; ; Electrical |Indicator iring : Pre-wired Applicable

Type | Special function entry light (Output) DC Band mounting(¢10, 816) | 0.5 |\1/| E g e oad

Perpendicular | In-line G| ML @

Stolid Wat stant 3-wire(NPN) 5V 12V MONAV | MONA | O | O | @ | O O IC circuit| Rl
state ater resistan - ) elay,
auto | (2-colour nccation) Grommet | Yes |3-wire(PNP) |24 V MOPAV | MOPA | O | O | @ | O O PLC

switch 2-wire 12V | M9BAV | M9BA | O | O | @ | O O —

« Lead wire length symbols: — ------- 0.5m (Example) D-M9NA
M-

-3m

-1m  (Example) D-MONAM
(Example) D-MONAL
(Example) D-M9NAZ

+ Solid state auto switches marked with “(O” are produced upon receipt of order.

 For details about auto switches with pre-wired connector, refer to Auto Switch Guide.

Mounting bracket part numbers

Mounting bracket

Bore size [mm]

10 16
Foot bracket CJ-LO16SUS CJK-LO16SUS
Flange bracket CJ-FO16SUS CJK-FO16SUS
T-bracket™ CJ-T010SUS CJ-T016SUS

* The T-bracket is applicable to the double clevis type (D).

Grease pack for stainless steel cylinders/Part number: GR-R-010 (10g)

O
z




Symbol

Double acting,
Single rod, Rubber bumper

Stainless Steel Cylinder Series CJ5'S

Specifications
Action Double acting single rod
Fluid Air
Proof pressure 1 MPa
Maximum operating pressure 0.7 MPa
Minimum operating pressure 0.1 MPa

Ambient and fluid temperature Without auto switch: —10 to 70°C, With auto switch: =10 to 60°C

Cushion Rubber bumper
Lubrication Not required (non-lube)
Stroke length tolerance +B‘°
Piston speed 50 to 750 mm/s
L 010 0.035J
Allowable kinetic energy
016 0.090 J
Mounting Basic type, Axial foot type, Front flange type, Double clevis type
Standard Strokes [mm]

Bore size [mm]

Standard stroke Maximum manufacturable stroke

10

15, 30, 45, 60, 75, 100, 125, 150

16

400

15, 30, 45, 60, 75, 100, 125, 150, 175, 200

+ Manufacture of intermediate strokes at 1 mm intervals is possible. (Spacers are not used.)
= For the one with auto switch, refer to the minimum stroke for auto switch mounting. (P. 14)

Mounting Types and Accessories

@---Supplied with the product. O---Please order separately.

. Basic Axial Rod side Double clevis
Hetiing style foot style flange style style *
© £| Mounting nut o () o —
S E| Rod end nut ® ® [ ] [ ]
cs
7] 08)- Clevis pin — — — [ ]
Single knuckle joint O O O O
< | Double knuckle joint (With pin) * O ©) O O
'%_ T-bracket — — — O
(@)
Flat type @) O O O
Rod end cap yp
Round type @) @) @) O

#Pin and retaining ring are shipped together with double clevis and double knuckle joint.

Weights [g]
Bore size [mm] 10 | 16
Basic weight* 52 | 96

Additional weig

ht per 15 mm of stroke | 4 | 6.5

Mounting

Axial foot type 22 | 22

bracket |Front

flange type 16 | 16

weight

Double clevis type (with pin)**| 6 | 16

+ The mounting nut and rod end nut are included in the

basic weight.

#+ The mounting nut is not included with the double clevis

type.

Calculation (Example) CJ5L10SR-45

* Basic weight ....

» Additional weight ..

e Cylinder stroke .

.................. 52 g (910)
.. 4 g/15 mm stroke
................. 45 mm

* Mounting bracket weight ... 22 g (axial foot type)

52 + 4/15x 45 +

22-86¢

O
:



Series CJ5-S

Construction (Cannot be disassembled)

! , _ M A
Parts list

No. Description Material

1 Rod cover SUS304

2 Head cover SUS304

3 Cylinder tube SUS304

4 Piston rod SUS304

5 Mounting nut SUS304

6 Rod end nut SUS304

7 Label protector PET

8 Water resistant scraper CJSLICISR NER
CJ5L1CISV FKM

Note) Component part material and surface treatment other than listed above
are the same as the standard type of Series CJ2.

O
:



Dimensions

Stainless Steel Cylinder Series CJ5'S

Basic type (B)/CL1J5BLIS \F;

Piping port M5 x 0.8

oNDns

GA Piping port 2-M5 x 0.8

oc‘i B B B |
m
m [ I
With head cover port in F | NA NB
axial position (R) BB ., H S + Stroke
Z + Stroke
[mm]
Bore size [mm] A |BA | BB |[CA [CB | D F [GA | GB | H MM NN NA | NB NDns S p4
10 15 15 12 17 14 4 8 8 5 28 M4 x 0.7 M10x1.0 | 125 | 95 104)_%22 46 74
16 15 | 183 [ 183 | 20 20 5 8 8 5 28 M5 x 0.8 M12x1.0 | 125 | 9.5 12_0_%27 47 75
. R
Axial foot type (L)/CLIJ5LLIS y
< 97
m,
Rod cover side
N NN ‘F GA Piping port 2-M5 x 0.8 Cover surface
Piping port M5 x 0.8
MM
a |
Q : >
— — - - - E >
] |
With head cover port in H ‘
axial position (R) A IxlylNa LX
H S + Stroke LZ
Z + Stroke
'e &
2-gLC
Mounting hole
[mm]
Bore size[mm] | A |BA|BB|CA|CB| D | F |GA|GB| H [LB|LC|LH|LT|LX|LY|LZ| MM NN (NA|NB|S | X |Y | 2Z
10 151156 (12 [ 17 |14 | 4 8 8 5 |28 |215(55| 14 |25| 33 | 25| 42 | M4x0.7 | M10x1.0[125]| 95|46 | 6 9 |74
16 15 (18.3(183| 20 |20 | 5 | 8 | 8 28 |23 |55 |14 |[25| 33 | 25| 42 | M5x0.8 |M12x1.0 [125|95 |47 | 6 | 9 | 75
4

O
:



Series CJ5-S

Dimensions

Front flange type (F)/C[JJ5FIS \F}

3
<
m

Piping port M5 x 0.8

Rod cover side

BA s

GA

Piping port 2-M5 x 0.8

NN <_.I il e B el GB Cover surface
% i ; 0 ol >
e mH . ] oF Bz
. . 2-0FC
With head cover port in .3 Mounti ‘
axial position (R) m FT ounting ‘
o hole
A F [ NA NB FX
H S + Stroke FZ
Z + Stroke
[mm]
Boresizemm] | A |[BA|BB|CA|(CB | D F |[FB|FC | FT | FX |FY |FZ |GA|GB| H MM NN NA [ NB | S V4
10 15 |15 | 12 | 17 | 14 4 8 (175|565 | 25| 33 | 20 | 42 5 28 | M4x0.7 | MI0Ox1.0 |125| 95 | 46 | 74
16 15 |18.3|18.3| 20 | 20 5 8 [19 55 |25 | 33 | 20 | 42 5 28 | M5x0.8 | M12x1.0 |125| 9.5 | 47 | 75
Double clevis type (D)/CL1J5DLIS \F;
NB @CDHg *05%°
GA Piping port 2-M5 x 0.8 GB Clevis pin (@Cddo ~5.909)
2 MM
1 0 [a) -4 -
o; o ® [ o
P iy 7% e B — T _ _ _ o9
o ot gg= <
m il \ \ \ m
A NA
CX 8% H S + Stroke U
BB S5 Z + Stroke R
ZZ + Stroke
[mm]
Bore size[mm] | A |BA|BB |CA |CB (83) CX| D |GA|GB| H MM NA | NB S |U |2z |zz
10 15 (15|12 |17 |14 |33 |32 | 4 8 | 18 | 28 | M4x0.7 | 125|225 46 8 | 82 | 87
16 15 |18.3|18.3| 20 | 20 | 5 65| 5 8 | 23|28 | M5x0.8 |125(|275 47 | 10 | 85 | 93

= Clevis pin and retaining ring are shipped together.

O
:



Stainless Steel Cylinder Series CJ5'S

Accessory Dimensions

Single knuckle joint Clevis pin Knuckle pin
MM oND hole H10 L L
t L1 t t L1 t
Il
1] R1 m m > m m >
— Kl N — — - =) =)
4 - a a]
| Q Q
NX 33 | A [uid’ 1 1 I 1 I N
Faligi-ilW 2 2
12 L |7 LA L
Material: SUS304 Material: Pin and retaining ring both stainless steel 304 Material: Pin and retaining ring both stainless steel 304
Applicable Applicable Applicabl
Part no. b%’:esize A1[L1| MM |NDH10|NX|R1|U1 Part no. b%?esize Ddo |d|L|L1|m]|t Snap Part no. b%’?elc;zee Ddo |d|L[L1|[m]|t|Snap
[mm] [mm] fing [mm] fing
1-JO10SUS| 10 |8 (21|m4x07[33"%%|31| 8| 9 CD-J010 | 10 (333513 |152122(1.2{0.3/Ctype 32 CD-J010 | 10 [333%0(3 |152[122|1.2{0.3/Ctype32
I-JO16SUS| 16 |8 [25|M5x08|5 5% |6.4[12|14 CD-Z015SUS| 16 |5 %% (48(227(183[15(0.7|Ctype 5 IY-J015SUS| 16 |5 3% |4.8|166122|15(0.7|Ctype 5
# Retaining rings are included. # Clevis pin is used instead for 510.
* Retaining rings are included.
Double knuckle joint Mounting nut Rod end nut
MM d
L oND hole H10 d
1 Shaft d9 : ;
1] Rt - 2
BN =7 - o +F - oo At
: - e
NX + 8.2 A1 U1+%.2 - ,
12 L1 | 7 | B H
B H
* Knuckle pin and retaining ring are packaged together.
Material: SUS304 Material: SUS304 Material: SUS304
Applicable Applicable Applicable
Partno. |boresze |[A1| L |L1| MM NDd9 Partno. |boesze| B (o d H Partno. |boesze| B Cc d H
[mm] [mm] [mm]
Y-J010SUS| 10 |8 |152] 21 |max07 | 33350 SNJ-016SUS | 10 | 14 | 162 |miox10]| 4 NTJ-0108US| 10 | 7 | 81 |max07 | 32
Y-JO16SUS| 16 |[11[16.6| 21 [M5x08| 5 5% SNKJ-016SUS| 16 | 17 |19.6 | M12x1.0| 4 NTJ-015SUS| 16 | 8 | 9.2 | M5x038

Part no. NDH10 | NX| R1 | U1

Y-J010SUS | 3.3 % | 32| 8 | 10
Y-J016SUS |5 *°2® | 65| 12 | 10

T-bracket Rod end cap
Flat type/CJ-CFICI]
Double clevis type cylinder A MM
4-0TC 7. T /
402 C
sg|| e [ =%
——— TT ~
B o o
Sk 2| | |8 1 7] I8
RN [ (S L
1o gl = BE
L,,L,,,,MJ N K_}_L Round type/CJ-CRLICIC]
Q <\ oTDH10 | A MM
LT_Y, ™ 40, o
W %
RR ‘
Material: SUS304 w N
Applicable - L.
Part no. b%[?esi]ze TC| TDH1o |TH|TK|TN| TT|[TU| TV [TW| TX | TY Material: Polyacetal
mm,
Part no. licabl
CJ-TO10SUS | 10 |4.5(33 *%0® |29 18 |31 |2 | 9|40 |22 |32 12 ot 2 :0 T mcsiz:A DIL| MM [NRW
al e [ Roun e
CJ-TO16SUS | 16 |55 |5 9% |35 |20 |64 | 25| 14 | 48 |28 | 38 | 16 e Sl
CJ-CF010{CJ-CRO10| 10 |8 [10[13| M4x0.7 |6 [10[8

CJ-CF016|CJ-CRO16| 16 [10(12(15| M5x 0.8 | 7 {1210

O
g



Stainless Steel Cylinder

Series CG5-

020, 625, 032, 940, 350, 063, 380, 3100

How to Order
[

L
CoS LNESITE S -0

EEE= CDG5|L|N|25/TF| S [R100—G5BAL| |-

1 I
With auto switchT
(built-in magnet) Made to Order
Refer to page 8
for details.
. °
Mounting ¢ gltliltggs;itocfhes
B Basic type — 2 pes.
L Axial foot type s 1pc.
F Front flange type b "N pcs.
G Rear flange type
E | Integral clevis type ® Auto switch type/Band mount type
— Without auto switch (built-in magnet)
Type ® G5BAL | D-G5BAL (water resistant)
N_ | Non-lube, rubber bumper Auto switches are available in the band
A Non-lube, air cushion mount type only.
® Cylinder stroke [mm]
Bore size ¢ Refer to the standard stroke table on page 8.

20 | 20 mm 50 | 50 mm ® Seal material

25 | 25mm 63| 63mm R NBR

32 | 32mm 80| 80mm Vv FKM

40 | 40 mm 100 | 100 mm

® Stainless steel cylinder

® Port thread type

Rubber bumper Air cushion
— Rc M5 x 0.8 020, 925
™ NPT 220 to 6100 — Ro
TF | M5x08 | 020,025 TN NPT | 032t0 2100
G 032 to 9100 TF G

Applicable Auto Switches/Refer to Auto Switch Guide for further information on auto switches.

. . . L Load voltage . Lead wire length [m]* .
Type Special Electrical Indicator Wiring Auto switch 3 5 Pre-wired Applicable
function entry light (Output) DC model L @ connector load
) ) Water resistant i Relay,
Solid state auto switch (2-colour indication) Grommet Yes 2-wire |24 V|12V G5BA [ O O PLC
« Lead wire length symbols: 3 m-.-....... L (Example) G5BAL * Solid state auto switches marked with “O” are produced upon receipt of order.

5 Meeeeenene Z (Example) G5BAZ
* For details about auto switches with pre-wired connector, refer to Auto Switch Guide.

Mounting bracket part numbers

) Bore size [mm]
LAl 20 25 32 40 50 63 80 100
Axial footNoe ) | CG-L020SUS | CG-L025SUS | CG-L032SUS | CG-L040SUS | CG-L050SUS | CG-L063SUS | CG-L08OSUS | CG-L100SUS
Flange CG-F020SUS | CG-F025SUS | CG-F032SUS | CG-F040SUS | CG-F050SUS | CG-F063SUS | CG-FOB0SUS | CG-F100SUS
Trunnion bracket Note 2) CG-E020SUS CG-E032SUS CG-E050SUS CG-E080SUS

Note 1) Order two foot brackets for each cylinder.
Note 2) Includes a clevis pin and 2 retaining rings.

Grease pack for stainless steel cylinders/Part number: GR-R-010 (10g)

O
z




Symbol

Double acting,
Single rod, Rubber bumper

:‘,‘:ﬂ ]

Air cushion

:‘,‘:ﬂ ]

Stainless Steel Cylinder Series C G5'S
Specifications
Action Double acting single rod
Fluid Air
Proof pressure 1.5 MPa
Maximum operating pressure 1.0 MPa
Minimum operating pressure 0.05 MPa

Ambient and fluid temperature

Without auto switch: —10 to 70°C, With auto switch: =10 to 60°C

Cushion Rubber bumper, Air cushion
i 220 to 063 50 to 1000 mm/s
Piston speed
280, 2100 50 to 700 mm/s
Lubrication Not required (Non-lube)
020 to 063 to 1000 *§5* mm, to 1200 *58mm
Stroke length tolerance W 8
280, 2100 to 1000 "¢ mm, to 1500 "¢~ mm

Mounting

Basic type, Axial foot type, Front flange type,
Rear flange type, Integral clevis type

Standard Strokes

[mm]

Bore size [mm] Standard stroke Long stroke Maximum manufacturable stroke

20 25, 50, 75, 100, 125, 150, 200 201 to 350
25 301 to 400
32 301 to 450
40 25, 50, 75, 100, 125, 150, 200 301 to 800 1500

50, 63 250, 300 301 to 1200
80 301 to 1400
100 301 to 1500

= Manufacture of intermediate strokes at 1 mm intervals is possible. (Spacers are not used.)
= Long stroke applies to the axial foot style and the rod side flange style. If other mounting brackets are
used, or the length exceeds the long stroke limit, the stroke should be determined based on the stroke

to . . selection table, in that case, please contact SMC.
Mgr‘fer Made to Order Specifications P
(For details, refer to pages 15 to 17.) Accessories
Symbol Specifications @--Supplied with the product. O---Please order separately.
-XA | Change of rod end shape ; ; ; ; Clevis
: : m— Mounting Basic Axial Rod side | Head side integrated
-XB6 | Heat resistant cylinder (150°C) style foot style |flange style| flange style style
+ Heat resistant grease (non-food grease) is used. g(t‘%ri\g%rgm Rod end nut Y ) o Y Y
Single knuckle joint O O O O O
Option | Double knuckle joint (With pin & retaining ring) @) O O O (@)
Pivot bracket (With pin and retaining ring) — — - — O
Weights )
Bore size 20 25 32 40 50 63 80 100
E, Basic type 0.32 0.42 0.61 0.97 1.78 2.73 5.20 8.13
% Axial foot type 0.40 0.53 0.72 113 | 212 3.19 5.91 9.50
§ Flange type 0.43 0.53 0.71 112 | 2.04 3.25 5.86 9.29
% Integral clevis type 0.37 0.48 | 0.72 112 | 217 3.26 | 6.48 9.94

Trunnion bracket

0.08 | 008 | 0.18 | 0.18 | 046 | 0.46 | 1.65 | 1.65

Single knuckle joint

0.04 | 0.07 | 0.07 | 011 | 022 | 0.22 | 0.53 | 0.78

Double knuckle joint (with pin)

0.05 | 0.09 | 0.09 | 0.18 | 0.33 0.33 | 0.73 1.07

Additional weight per 50 mm of stroke

0.06 | 0.08 | 0.14 | 0.18 | 0.27 0.33 | 050 | 0.73

Additional weight with air cushion

0.02 | 0.02 | 0.08 | 0.02 | 0.06 | 0.07 | 0.14 | 0.16

Calculation (Example) CG5LA 20SR-100
(Foot type 20, 100mm stroke)

O
:

* Basic weight ...t 0.40 kg (Foot type ©20)
 Additional stroke weight .. .. 0.06 kg/50 mm stroke
* Air cylinder stroke ............. ...100 mm
 Additional air cushion weight ..... 0.02 kg

0.40 + 0.06 x 100/50 + 0.02 = 0.54 kg




Series CG5-S

Construction

With air cushion

? A

. gg

Component Parts

No. Description Material . Material
No. Description
1 Rod cover Stainless steel 304 CG50CICISR CG501CISV
2 Head cover Stainless steel 304 8 Water resistant scraper
3 Cylinder tube Stainless steel 304 9 Rod seal
4 Piston rod Stainless steel 304 | Hard chrome plated 10 | Piston seal
6 Rod end nut Stainless steel 304 11 | Valve seal NBR FKM
7 Cushion seal Urethane 12 | Valve retainer gasket
14 | Cushion valve Stainless steel 304 21 Piston gasket
15 | Valve retainer Stainless steel 304 22 | Cushion ring gasket
16 | Lock nut Stainless steel 304 13 | Label protector PET
17 | Bushing Bearing alloy
18 | Piston Aluminium alloy
19 | Wearing Resin
20 | Cushionring Aluminium alloy
Note 1) Component part material and surface treatment other than listed above
are the same as the standard type of Series CG1.
Note 2) For cylinders with an auto switch, the piston is fixed with a magnet.
Replacement Parts/Seal Kit
BT Rubber bumper Air cushion
CG5LINOSR CG5LINOISV CG5JACSR CG50ACSV
20 CG5N20SR-PS CG5N20SV-PS CG5A20SR-PS CG5A20SV-PS
25 CG5N25SR-PS CG5N25SV-PS CG5A25SR-PS CG5A25SV-PS
32 CG5N32SR-PS CG5N32SV-PS CG5A32SR-PS CG5A32SV-PS
40 CG5N40SR-PS CG5N40SV-PS CG5A40SR-PS CG5A40SV-PS
Contents Set of (9 and 10 above Set of (9), (10, 4D and (12 above

* Seal kit includes a grease pack (10 g).
Order with the following part number when only the grease pack is needed.
Grease pack part number: GR-R-010 (10 g)

/\ Caution

When disassembling cylinders with bore sizes of 820 through @40, grip the double flat part of either the tube cover or the rod cover with a vise
and loosen the other side with a wrench or a monkey wrench, etc., and then remove the cover. When retightening, tighten approximately 2
degrees more than the original position. (Cylinders with @50 or larger bore sizes are tightened with a large tightening torque and cannot be
disassembled.)

O

SVC



Stainless Steel Cylinder Series CG5'S

Dimensions

Basic type (B)/CCIGSBNLIS {: With rubber bumper

GA 2P GB
Width across flats B1~ H1
M BM
. 707 _
e J——— B2+
[S]
~ 4
BZ B2 MM /| AL
A K
F1)
Plug bolt * (
. H S + Stroke
(4 pcs. included) 77 + Stoke
[mm]
Bore | Stroke
size | range | Re:NPTport|  Gport A|AL|B1|B2| BM |Bz|c | D |E1|F1|H |H1| I J K |KA|M| MM [NA| s |ZZ
[mm] | Standard | GA|{GB| P |GA|[GB| P
20 |Upo30 | 18 | 12 | 1/8| 18 | 12 |N6x08| 18 | 155] 13 | 7 |M&x07| 9 |165| 8| 15| 3 | 35| 5| 31| Wxoian? | 5 | 6|3 |Mex125| 20 | 83| 118
25 |Uptod0 | 18 | 12 | 1/8| 18 | 12 |W6x08] 22 [195] 17 | 8 |M5x08] 95|185] 10| 17 | 3 | 40| 6| 33| Wx08ceshd | 55| 8 | 3.5 |Mi0x1z5| 29 | 83|123
32 |Uptods0 | 18 | 12 |1/8| 16 | 10 | 1/8 | 22 [195] 17 | 8 |M5x08| 95|20 | 12 | 19| 3 | 40 | 6| 38| Wx08cshs | 55| 10 | 3.5 | Mi0x125| 35| 85125
40 | Upo80 | 19 | 13 |1/8| 16 | 10 | 178 | 30 [27 | 19 | 10 |M6x1.0|12 |26 |16 |23 | 3 | 50 | 8 | 47| Wxidiehi2 | 6 | 14 |4 |Midxis| 4 | 93|143
50 |Upto1200| 21 | 14 | 1/4| 19 | 12 | 1/4 | 35 |32 | 27 | 13 | M8x125|155|32 | 20 | 28 | 3 | 58 | 11 | 58 | Wxisenis | 7 | 18 | 5.5 | Migx15| 5 | 109|167
63 |Upto1200| 21 | 14 |1/4| 19 |12 | 1/4 | 35 |32 | 27 | 17 |M10x15]19 |38 | 20 | 28 | 3 | 58 | 11 | 72| Wiosiscesnto | 7 | 18 |7 | Mi8x15| 69 | 109|167
80 |Upo1400| 28 | 20 | 3/8 | 25 | 17 | 3/8 | 40 |37 | 32 | 17 |M10x15]19 |50 |25 |33 | 3 | 71 | 13 | 89 | M0siscenz |10 | 22 |7 |Me2x15| 80 | 130201
100 |Uplo1500] 29 | 20 | 1/2] 26 | 17 | 172 | 40 |87 | 41 | 19 |Mi2xi75 |24 |60 | 30 | 38 | 3 | 71 | 16 | 110 |MoxiBiems |10 | 26 |8 |Me6x15|100 | 131202

= Install plug bolts, which are included, in any unused mounting holes.

Basic type (B)/CLIG5BALIS \F;: With air cushion

WA wB
|| [
GA 2-P GB| S . Woe
Width across flats B1 ~ H1 N
. b ag ] Sl 3
e EE 154+ 3 3
s . E@N A &
MM/ _AL
Plug bolt * A K ) K |
4 pcs. included ) 01 8x
“p ) H S + Stroke c.
ZZ + Stroke NA
[mm]
Bore | Stroke
Rc, NPT port
size | fange © 2 G port A (AL|B1(B2| BM (BZ|C |D |E1|F1|H [H1| I J K|KA|M| MM [NA| S
[mm] | Standard|GA|GB| P |GA|GB| P
20 |Upto350| 18 | 12 [M5x08 | 18 | 12 | M5x08| 18 [155| 13 | 7 |M4x0.7| 9 |165] 8| 15| 3 |35 5| 31| Méx07deph7 | 5 6|3 |[M8x125| 29 83
25 |Upto400| 18 | 12 [M5x08 | 18 | 12 | M5x08| 22 [19.5| 17 | 8 |M5x0.8| 95|185| 10 |17 | 3 | 40 6| 33| M5x08depth8 | 55| 8 |3.5|M0x1.25| 29 83
32 |Upto4s0| 18 |12 | 1/8 |16 |10 | 1/8 |22 |195|17 | 8 |M5x08] 95/20 |12 |19 | 3 | 40 6| 38| M5x08depth8 | 55| 10 | 3.5 | M10x1.25 | 355| 85
40 |Uptosoo| 19| 13| 1/8 |16 |10 | 1/8 |30 |27 |19 | 10 |M6x1.0[12 |26 |16 |23 | 3 |50 8| 47| Mox10deph2 | 6 | 14 |4 |Mi4x15| 4 93
50 |Upto1200] 21 | 14| 1/4 |19 |12 | 1/4 |35 |32 |27 | 13 |[M8x125|165(32 |20 |28 | 3 | 58 | 11 | 58| MBx125deptht6| 7 | 18 | 5.5 | M18x 15| 55 | 109
63 |Upto1200] 21 | 14| 1/4 |19 |12 | 1/4 |35 |82 |27 |17 |[M10x15[19 [38 |20 |28 | 3 |58 | 11 | 72| Miox15deptht6| 7 | 18 |7 |[M18x15] 69 | 109
80 |Upto1400/ 28 | 20 | 3/8 |25 |17 | 3/8 |40 |37 |32 |17 |[MI0x15[19 |50 |25 |33 | 3 |71 |13 | 89| M0xi5deph22|10 |22 |7 |[M22x15| 80 | 130
100 |Upto1500( 29 [ 20 | 1/2 |26 |17 | 1/2 | 40 |37 | 41 | 19 | MI2x1.75|24 |60 |30 |38 | 3 |71 |16 | 110 |M2x175deph23] 10 | 26 |8 |[M26x15[100 | 131
= Install plug bolts, which are included, in any unused mounting holes. mm
Bore
size |WA|WB|WH|W6 | ZZ
[mm]
20 |22 |16 |23 | 30°|118
25 |22 |16 |25 | 30°|123
32 | 22 | 16 |28.5| 25°|125
40 (22 | 16 |33 | 20°[143
50 |25 | 18 |40.5| 20°| 167
63 | 25 | 18 |47.5| 20°|167
80 | 30 | 22 |60.5| 20°|201
100 | 31 | 22 |71 | 20°|202

SMC 10

O



Series CG5-S

Dimensions

Axial foot style (L): COG5L \ (IS {

H S + Stroke
GA GB
Width across flats B1 | H1 2-P =
Th6 Vo r‘l id )
T HER < —— —HOH
S [11] N (8]
/ T G '
=
MM/|_ AL ‘ 2T )
A K i = Width across flats NA
g kal | N
X _|Y M 8xd, C 0 4xoLD
‘ LS + Stroke LX
ZZ + Stroke LZ
[mm]
Bore | Stroke
size | range | Rc NPT port G port A|AL|[B1| B [ C [D|H|[H| I J K |KA| LD |[LH|LS|LT|LX |LZ | M
[mm] [standard|GA[GB] P |[GA[GB[ P
20 |Upto3s0| 18| 12| 1/8(") | 18 | 12 [M5x0.8| 18 |[15.5| 13 | 375|165| 8|35 | 5| 31 M4 x 0.7 5 6| 6 |[22]|59| 3 40| 50 |3
25 |Uptodo0| 18 | 12 | 1/8(") | 18 | 12 [M5x0.8| 22 [19.5| 17 | 415[185|[10 |40 | 6| 33 M5 x 0.8 55| 8| 6 |25|59| 3 44| 60 (3.5
32 |Uptods0| 18 | 12 1/8 16 | 10 1/8 22 |19.5| 17 | 44 |20 12|40 | 6| 38 M5 x 0.8 55|10 | 72|25|59 | 3 44| 60 |3.5
40 |Upto800| 19 | 13 1/8 16 | 10 1/8 30 |27 19 | 53.5|26 16 [ 50 | 8| 47 M6 x 1.0 6 14| 72|30 |66 | 3 54| 75|4
50 |Upto1200| 21 | 14 1/4 19 | 12 1/4 35|32 | 27| 69 |32 |20 |58 | 11 58 | M8x1.25 7 18|10 |40 |74 | 4 66| 90|55
63 |Upto1200] 21 | 14 1/4 19 [ 12 1/4 | 35|32 |27 | 81 |38 |20|58 |11 | 72| M10x15 7 18 |12 |45 |74 | 4 82110 |7
80 |Upto1400| 28 | 20 3/8 25| 17 3/8 40 |37 | 32| 995|/50 |25 |71 |13 | 89| M10x15 |10 |22 |12 |55|82| 4 |100|130|7
100 |Upto1500| 29 | 20 1/2 26 | 17 1/2 40 |37 |41 (125 |60 |30 |71 |16 |110| M12x1.75 |10 |26 |14 |70|83 | 6 |120| 160 |8
* Foot brackets and plug bolts are installed when shipped from factory. [mm]
Note 1) 20 and 225 cylinders with an air cushion: M5 x 0.8 Bore
Note 2) Refer to the basic type (B)/CG5BA[]S™ for the dimensions of air cushion needles. S MM NA| S X v | zz
(mm)

20 | M8x1.25 | 29 83 |15 7 124

25 | M10x1.25 | 29 83|15 7 1295

32 | M10x1.25 | 355| 85|16 6 |[1315

40 | M14x15 | 4 93 |16.5| 6.5|150

50 | M18x1.5 | 55 [109[21.5/11.5]1765

63 | M18x1.5 | 69 | 109 [21.5[/11.5[178

; . N R 80 | M22x1.5 | 80 [130[28 [17 [212
Rod side flange style (F): CCOG5F 4 ISy, e M26§15 o5 Ta31Tao T35 Tets

FT GA_ 2-P GB

Width across flats B1 ~ H1

WU

m m u u r PSRN
A0 380 . Wont @@
o r— o o|%|b] A
4 = L NI
/ \ H NV, E%
MM /| AL | 5 TH-TRG
A K \ Width across flats NA / K‘A
4 x gFD 6}&1 N8 xdJ
H S + Stroke M EX 20.15
ZZ + Stroke B
[mm]
Bore | Stroke
size | range | Fic NPT port Gpot | p AL |B1| B | Cc |D|FX|FD|FT|H|H1| I J K [KAfM| MM |NA| S |2z
[mm] [standard|GA][GB] P [GA[GB] P
20 |Upto350| 18| 12 | 1/8() | 18 | 12 |M5x08| 18 |15.5| 13| 50 |165| 8| 36| 55| 6|35| 5| 31|M4x07| 5 | 6|3 | MBx125| 29 | 83121
25 |Upto400| 18 | 12 | 1/8( [ 18 | 12 [M5x08| 22 [19.5| 17| 50|18.5/10| 36| 55| 6|40| 6| 33|M5x0.8| 55| 8|3.5| Mi0x125 | 29 | 83 |1265
32 |Upods0| 18 |12 | 1/8 | 16|10| 1/8 |22|195|17| 50|20 |12| 38| 6.6 6|40| 6| 38| M5x0.8| 55| 10|3.5| Mi0x125 | 355| 85 |1285
40 |Uptos00| 19|13 | 1/8 |16[10| 1/8 | 30|27 |19| 60|26 |16| 46| 6.6| 6|50| 8| 47|M6x1.0| 6 |14|4 | Mi4x15 | 44 | 93 147
50 |Upto1200| 21 | 14| 1/4 |19 |12| 1/4 |35|32 |27| 75|32 |20| 58| 9 | 9|58 11| 58| M8x125| 7 |18|55| Mi8x15 | 55 | 109 |1725
63 |Uptoi200[ 21 [ 14| 1/4 |19|12| 1/4 |35]32 [27| 90|38 |20| 70|11 | 9|58 | 11| 72|M10x15| 7 |18|7 | Mi8x15| 69 | 109 [174
80 |Upto1400[ 28 | 20| 3/8 |25|17| 3/8 |40|37 |32|100|50 |25| 82|11 | 9|71 |13| 89|M10x15|10 |22 |7 | M22x15| 80 | 130 |208
100 |Upto1500[ 29 [20 | 1/2 |26 17| 1/2 | 40|37 |41|125|60 |30|100 |14 |10 |71 |16 |110|Mi2x175 |10 |26|8 | M26x15 [100 | 131 |210

* Flange bracket and plug bolt are installed when shipped from factory.

Note 1) 20 and @25 cylinders with an air cushion: M5 x 0.8
Note 2) Refer to the basic type (B)/CG5BA]S™ for the dimensions of air cushion needles.

1 ZS\NC



Dimensions

Stainless Steel Cylinder Series CG5'S

Head side flange style (G): CCG5G ,N\DS\F;

Width across flats KA GA GBFT
Width across flats B1~ H1 2-P
et L[ £ ikl
o 2 & HeEOH J G —— =
x L =
D -
b D 16 / H
- : MMm/| AL a
/‘- A \ Width across flats NA H
C:o1 N8 x J
4 xoFD EX 015 M
H S + Stroke
B ZZ + Stroke
[mm]
Bore |Stroke
size | range Re, NPT port G port A|AL(B1| B | C |D|FX|FD |FT|H |H1| I J K |[KAAM| MM |NA| S |2z
[mm] |Standard |GA|GB| P |GA|GB| P
20 |Upto200| 18 | 12| 1/8() | 18|12 |M5x08| 18 |15.5| 13| 50|16.5| 8| 36| 55| 6|35| 5| 31 |M4x07| 5 | 6|3 |[M8x125| 29 | 83| 124
25 |Upto300| 18 | 12 [ 1/8( [ 18 |12 |M5x08|22 |19.5| 17| 50|18.5/10| 36| 55| 6|40| 6| 33 |[M5x0.8| 55| 8[3.5|M0x125| 29 | 83| 129
32 |Upto300| 18 | 12| 1/8 [16|10| 1/8 [22(19.5/17| 50|20 |12| 38| 66| 6|40| 6| 38 |M5x0.8| 55|10 |3.5|M0x125| 355 85| 131
40 |Upto500{ 19| 13| 1/8 [16|10| 1/8 [30(|27 |19| 60|26 |16| 46| 66| 6|50| 8| 47 |[M6x1.0| 6 |14[4 |[Mi4x15| 44 | 93| 149
50 |Upto600| 21 |14 | 1/4 [19|12| 1/4 |[35(|32 |27| 75|32 |20| 58| 9 | 9|58 |11| 58 |M8x125| 7 |18|5.5|Mi18x15| 55 |[109 | 176
63 |Upto600| 21 |14 | 1/4 |[19|12| 1/4 |35(32 |27| 90|38 [20| 70 |11 9|58 [11| 72 |M10x15| 7 |18|7 [M18x15| 69 [109 | 176
80 |Upto750/28 (20| 3/8 |25|17| 3/8 |40|37 |32|100(50 |25| 82 |11 9|71|13| 89 |[MI0x15[10 |22[7 |M22x15]| 80 |130 210
100 |Upto750{29 |20 | 1/2 |26 |17 | 1/2 |40|37 [41[125|60 |30|100 |14 |10|71|16|110 |Mi2x175|10 [26|8 |M26x1.5[100 | 131|212
« Foot brackets and plug bolts are installed when shipped from factory.
Note 1) 820 and 925 cylinders with an air cushion: M5 x 0.8
Note 2) Refer to the basic type (B)/CG5BA[JS* for the dimensions of air cushion needles.
. N R
Integral clevis style (E): CCIG5E 5 (1S
9 y ( ) A v ZZ + Stroke
LL GA GB L RR| 9CD hole H10
CX Width across flats B1 | H1 2-P U Shaft d9
LY
m ‘\ " : " \1 : " _ 1\
AN af | ) ) 2% T
1 o ® FAEa JIZN = LN 8
N
| 1 1
$ E 5 MM/ AL LE
L L A K r
-/ Vo Plf----adab—1
| - ~ | [ IR A [
LX ‘ H S + Stroke LF LG \ 4-0LD
LV Z + Stroke LP
LZ + Stroke
[mm]
Bore | Stroke
size |range | 1o NPTport I AL | Bt (,_%%) cllcx |[D|H|HI| 1 | K |KA|L| MM | NA
[mm] | Standard |GA|GB| P |GA|GB| P
20 |Upto200| 18 | 12 | 1/8(M | 18 | 12 |M5x0.8| 18 |[15.5| 13 | 8% | 25 |16 3, | 8 |35| 5| 31| 5 6|14 | M8x1.25| 29
25 |Upto300| 18 | 12 | 1/8() | 18 | 12 |M5x0.8| 22 |19.5| 17 | 8*3%8 | 27 [16 3, |10 |40| 6| 33| 55| 8| 14 [ MI0Ox1.25 | 29
32 |Upto300| 18 [ 12| 1/8 |16 |10 | 1/8 |22 [19.5 17 [10*3% |32 (243, |12 |40| 6| 38| 55|10 | 16 | MI0x1.25 | 355
40 |Upto500| 19 | 13| 1/8 |16 | 10| 1/8 | 30|27 | 19 [10°3%® | 40 (245, |16 |50| 8| 47| 6 |14 |16 | M14x1.5| 44
50 |Upto600| 21 | 14 | 1/4 |19 |12 | 1/4 | 35|32 |27 (14390 |50 (403, |20 58|11 | 58| 7 |18 |22 | Mi8x1.5| 55
63 |Upto600| 21 | 14 | 1/4 |19 | 12| 1/4 | 35|32 |27 [14*°° | 60 |40, |20 (58|11 | 72| 7 |18 |22 | M18x1.5 | 69
80 |Upto750| 28 | 20 | 3/8 | 25|17 | 3/8 | 40|37 |32 (22+3%* | 75|60, |25|71|13| 89|10 |22 |33 | M2x1.5| 80
100 |Upto750{ 29 |20 | 1/2 |26 |17 | 1/2 |40 (37 | 41[22*3%* | 90 |60, |30 |71 |16 | 110 [10 |26 | 33 | M26x 1.5 | 100
[mm]
Bore . cD
size [RR| S |U | Z |2z Pivot LD (LE [LF [LG|LH| LL [LP|LT|LV |LX |LY|LZ
[mm bracket (Shaft)
20 | 9| 83|13 132|141 | CG-E020SUS | 83%2 | 7| 9| 2 |14 |30|27.6| 21| 3 | 565| 42|30 | 153 *Eg’n%?:c";;re'”Sta”ed‘“’he”s“'pped
~0.040 .
25 | 9| 83|13 |137 | 146 | CG-E020SUS 84),3:6 7| 9|2 [14]30/276/21] 3 | 565| 42|30 |158 , by i pracket (with clevis pin and snap
32 [ 11| 85|15 | 141|152 | CG-E032SUS [1005% | 7 |11 | 4 [ 22|40 |38.4[29 | 4 | 705| 56| 40 | 170 ting) are optional. (Not included.)
40 | 11| 93|15 159 | 170 | CG-E032SUS |10 | 7 [ 11| 4 |22 |40 38.4|29 | 4 | 705| 56 | 40 | 188  Note 1) 920 and 025 cylinders with an
50 | 15 (109 | 21 | 189 | 204 | CG-E050SUS [14700% |12 | 15| 5 | 25|50 [59.6| 35 | 6 |1065| 84 | 50 | 224 air cushion: M5 x 0.8
63 | 15 [ 109 | 21 | 189 | 204 | CG-E050SUS [143%% |12 [ 15[ 5 | 25|50 [59.6| 35 | 6 [1065| 84 | 50 | 224  Note 2) Refer to the basic type
80 | 23 | 130 | 32 | 234 | 257 | CG-E080SUS |223% | 14 | 23 | 6 |40 | 80 |87.2| 57 | 9 | 1445 120 | 80 | 291 35)/0‘355’*53.“”“9.
= imensions of air cushion
100 | 23 | 131 | 32 | 235 | 258 | CG-E080SUS [22239% | 14 |23 | 6 | 40 | 80 [87.2]| 57 | 9 [1445| 120 | 80 | 292 needles.

12



Series CG5-S

Accessory Dimensions

Single knuckle joint Double knuckle joint
Material: SUS304 Material: SUS440 (pin)
MM @ND hole H10 SUS304 (bracket, retaining ring)
oND hole H10
/ an
‘ e e
(=il iay 4
<A—1 <l£> A1 U1
NX L1 naa g
A A
[mm] [mm]
Applicable Applicable Applicable
Part no. bo{mi}ze A|A1| E1 [Li| MM |NDHio| NX |R1|U1 Part no. bo[resi]ze A|A1|E1|L |L1| MM [NDH1o| NX [NZ|R1|U1 F;ﬁnno
mm .

I-GO2SUS | 20 |34 (85|16 |25 | M8x1.25 | 8°0%8| 8 32 [103[115  Y-GO2SUS| 20 |34| 85[16[21 [25|M8x1.25 | 8 0% 8103 |16(10.3]115(I-Go2SUS

I-GO3SUS | 25, 32| 41 |10.5| (120 | 30 | M10x 1.25 |10 "398 | 10 252 |12.8 (14 Y-G03SUS|25,32| 41 |105|20(256(30 | M10x1.25 [10 ¢ ™®|10:03|20 |12.8] 14 |IV-Go3suS

I-G04SUS | 40 |42 |14 |22 |30 | M1ax15 [1079%°| 18 92 [12 |14 Y-G04SUS| 40 [42|16 |22(416(30| M14x 15 [10%2%%18°22 (3612 {14 (Iv-Go4sUS

1-GO5SUS |50, 63| 56 |18 |28 | 40 | M18x 1.5 |14*597°| 22 33 146 |20 Y-GO5SUS|50,63|56 20 |25(506|40| M18 x 1.5 |14 0702223 44 |16 |20 [IV-GO5SUS

I-GO8SUS | 80 |71 |21 |[138 |50 | M22x 1.5 |18*3970| 28 02 |21 |27 Y-GO8SUS| 80 |71(23 |35|64 (50| M22x 1.5 |18*07|28:53|56 |21 |27 |Iv-GossuUS

I-G10SUS | 100 |79 (21 |45 |55 | M26x 1.5 |22*9%*| 32 02 |24 |31 Y-G10SUS| 100 (79(24 |40|72 |55|M26x 1.5 |22*0%|32103 |64 |24 |31 |Iy-G10SUS
x Knuckle joint pins and retaining rings are included.

Knuckle joint pin Trunnion bracket
Material: SUS440 (pin) Material: SUS440 (pin)
SUS304 (retaining i SUS304 (bracket, retaining rin
(retaining ring) LL #CDdo ( g ring)
. X
y 2 {CX) LY
- - HE
H S [ Il
il = H +(r
t t -
m|l{ L1 N[ m 3 -
L ) g R
Lo || el lle NG,
(LV) LE LP
[mm] ‘ [mm]
Applicable : Applicable | CD
Partno. |boresze| D9 | d | L | L | m | t | Applicable Partno. | boresize | (reining| CX|LD| LE|LF|LG|LH|LL |LP|LT|LV|LX|LY
[mm] retaining ring [mm] fing)
IY-G02SUS| 20 | 8002 7.6 |21 | 162 |15 |09 | Ctypesforaxis CG-E020SUS| 20,25 | 8302 16| 7| 9| 2 |14|30|276| 21| 3 | 55| 42| 30
IY-G03SUS | 25,32| 10 33| 96 | 256 | 20.2 | 1.55 | 1.15 | Ctypef0foraxis ~ CG-E032SUS | 32,40 (1052 (24| 7| 11| 4 |22|40|384|29| 4 | 05| 56| 40
IY-G04SUS| 40 |103%%| 96 | 416 | 362 | 1.55 | 1.15 | Ctypef0foraxis ~ CG-E050SUS | 50, 63 14755 [40|12| 15| 5 |25(50(596| 35| 6 [1065| 84|50
IY-GO5SUS | 50, 63| 14 5550 | 13.4 | 50.6 | 44.2 | 2.05 | 1.15 | Ctype 14foraxis ~ CG-E080SUS |80, 100 (2223% |60 | 14 | 23| 6 |40|80(872| 57| 9 1445|120 | 80
IY-GO8SUS| 80 |1875%3|17 |64 |56.2|2.55 | 1.35 | Ctype 18foraxis # Clevis pins and retaining rings are included.
IY-G10SUS| 100 |2239%| 21 |72 | 64.2 | 2.55 | 1.35 | Ctype 22 for axis
————— — o1 L Rod end nut
* Retaining rings are included.
L. Material: SUS304
Clevis pin 20

Material: SUS440 (pin)
SUS304 (retaining ring)

H J{-1 a
: - =[3 ° o
H Q I
t t i, B1
m ||/ L1 N m
L [mm]
Applicable
Part no. bore size B1 (o} D d H1
[mm] [mm]
Applicable ! NT-02SUS 20 13 12, : 5
Partno. | boresize | Dd9 d L L1 m t Applicable (15) 5| M8x125
[mmi retaining ring NT-03SUS 25, 32 17 |(196)| 16.5 | M10x1.25 | 6
CD-E02SUS| 20,25 | 08 07 | 7.6 [27.6 |22.8 | 1.5 |0.9 |Ctype8foraxis NT-G04SUS 40 19 [(21.9)| 18 | M14x1.5 8
CD-E03SUS| 32,40 |010 5522 | 96 |38.4 |33 |1.55 |1.15 | Ctype 10foraxis NT-05SUS 50, 63 27 |(312)| 26 | M18x1.5 | 11
CD-E05SUS| 50, 63 |014 03 [13.4 |59.6 |53.2 | 2.05 | 1.15 | Ctype 14 for axis NT-08SUS 80 32 [(37.0)| 31 | M22x1.5 | 13
CD-E08SUS| 80, 100 [022 095 |21 | 87.2 |79.4 | 2.55 | 1.35 | Ctype 22 for axis NT-10SUS 100 41 [(47.3)| 39 | M26x1.5 | 16

* Retaining rings are included.

13

O

SVC



Series CJ5-S/CG5-S
Auto Switch Mounting

Proper Auto Switch Mounting Position (Detection at stroke end) and Its Mounting Height

Series CJ5-S
D-M9OIA(V)
D-H7BA

11

@ L

Approx. Hs

Operating Range

Minimum strokes for auto switch mounting [mm]
- - - B -
Mounting bracket Basic type, Foot type, Flange type, Clevis type Auto switch model ore size [mm]
Number 1 pc. 2 pcs. 2 pcs. 10 16
of switches (Rod cover side) (Different sides) (Same side) D-H7BA 5 5
Mounting Port surface Port surface Port surface * Since this is a guideline including hysteresis, not
surface meant to be guaranteed. (Assuming approximately
+30% dispersion) There may be the case to change
substantially depending on an ambient environ-
ment.
Switch type Proper Auto Switch Mounting Position
Minimum stroke [mm] 10 15 60 and Its Mounting Height [mm]
. . RpTRCETE Auto switch D-H7BA
Auto Switch Mounting Bracket / Part No. Ry model T B | Rs
B -
Auto switch model ore size [mm] 10 0 0 17
010 016 16 05 | 05 | 205
D-M9LIA BJ6-0108S Note 1)[BJ6-016S Note 1) Note) Adjust the auto switch after confirming the
D-M9LIAV operating condition in the actual setting.
D-H7BA BJ2-010S BJ2-016S
* With stainless steel mounting screws.
Note 1) Set part number which includes the auto switch mounting band
(BJ2-0JOJS) and the holder kit (BJ4-1/Switch bracket: White).
Note 2) For D-M9UA(V), avoid the indicator LED for mounting the switch bracket.
Series CG5-S
D-G5BA 12 Auto switch Approx. Hs
sﬁ
4 NS 0 i
J@@ g } X 3 Operating Range [mm]
D ' Auto switch Bore size [mm]
| e model
A 33 Z_]JS B 20|25|32|40|50 |63 |80 (100
D-G5BA 5| 5|55/ 6|7 |75/75| 8
Minimum strokes for auto switch mounting + Since this is a guideline including hysteresis, not
M i % Basi E Fl levi meant to be guaranteed. (Assuming approximately
ounting bracket asic type, Foot type, Flange type, Clevis type +30% dispersion) There may be the case to
Number 1 pe. 2 pces. 2 pes. change substantially depending on an ambient
of switches (Rod cover side) (Different sides) (Same side) environment.
Mounting Port surface Port surface Port surface Proper Auto Switch Mounting Position
surface T and Its Mounting Height [mm]
72\ Auto switch .
@ Applicable model D-GSBA
bore size [mm] A B Hs
_ ap 20 315 | 24 | 26
Switch type 25 315 | 24 | 285
Minimum stroke [mm] 10 15 75 32 325 | 25 33
. . 40 37 28 36.5
Auto Switch Mounting Brackgt/ Part No. 50 455 | 36 | 42
Auto switch Bore size [mm] 63 455 | 36 | 485
D-G5BA | NBA- | NBA- | BGS1| BAF | BAF | BAF | BAF | BAF 100 57 46 | 68
088S | 106S |-032S | -04S | -05S | -06S | -08S | -10S Note) Adjust the auto switch after confirming the
= With stainless steel mounting screws. operating condition in the actual setting.
ZS\NC 14




Simple Specials:
-XAO0 to XA30: Change of Rod End Shape

These changes are dealt with Simple Specials System.

Symbol
n Change of Rod End Shape -XA0 to XA30

Applicable Series

Series Action Symbol for change Note
of rod end shape
CG5 \Stainless steel cylinder \ CG5-S Double acting, Single rod XAO0 to 30
| A\ Precautions
1. SMC will make appropriate arrangements if no dimension, tolerance, or finish 3. In the case of double rod type and single acting retraction type, enter the
instructions are given in the diagram. dimensions when the rod is retracted.

2. Standard dimensions marked with “+” will be as follows to the rod diameter (D).
Enter any special dimension you desire.
D<6->D-1mm, 6<D<25—->D-2mm, D>25—->D-4mm

Symbol: AQ Symbol: A1 Symbol: A2 Symbol: A3

Symbol: A5 Symbol: A7

eRD _ B MM AL MM AL
A Y B Ym0, Y,
_ 4} *[ - - - *I,;J | *E J%,,
N ¥y |
W LL'\fso" 7 ~J30° 30°

Symbol: A8 Symbol: A9 Symbol: A10 Symbol: A11

= CO0.5 file chamfer
C WA

YRal R sph
MM _ | il \ R sphere TP_| Sphere |
181 } o AT L % ,
8 A2V | N_
30° | — —
M ~{TH Wi ¥ H

B AL

Symbol: A12 Symbol: A13 Symbol: A15
C0.5 oDA . AL oDA
Rsphere \ [ | C_ oDA 30 MM 30° c 2DA g
— —/\ \
T | Wi A c A A
H H H H

15

O
2



Symbol: A16

.y

30°

Symbol: A17

oDB

—1

Symbol: A18

30°

oDB
]

Symbol: A26

Simple Specials:
Change of Rod End Shape

Symbol: A19

MM

Symbol: A23

oRD

O

16



Made to Order Common Specifications:

-XB6: Heat Resistant Cylinder (-10 to 150°C)

Symbol

E Heat Resistant Cylinder (-10 to 150°C)

Air cylinder which changed the seal material and grease, so that it could be used even at higher temperature up to 150 from —10°C.

Applicable Series
Series Description Model Action Note
CG5 Stainless cylinder CG5 Double acting, Singlerod | Except with auto switch. Without a bumper for cylinders with a rubber bumper (Grease for non-food is used.)

How to Order

Standard model no. |-XBG
Heat resistant cylinder l
Specifications
Ambient temperature range —10to 150°C
Seals materials Fluororubber
Grease Heat resistant grease
[ Specifications other than above and external dimensions [ Same as standard type

Note 1) Operate without lubrication from a pneumatic system lubricator.

Note 2) Please contact SMC for details on the maintenance intervals for this cylinder, which differ from
those of the standard cylinder.

Note 3) In principle, it is impossible to make built-in magnet type and the one with auto switch. But, as
for the one with auto switch, and the heat resistant cylinder with heat resistant auto switch,
since it will be differed depending on the series, please contact SMC.

Note 4) Piston speed is ranged from 50 to 500 mm/s.

/A Warning
Precautions

Be aware that smoking cigarettes, etc. after your hands have come into contact with the grease
used in this cylinder can create a gas that is hazardous to humans.

17

O
2



Technical Data

Chemical Resistance Table

Chemical Resistance Table

©}
O

X

: No influence or almost no influence
: Some influence, but operational depending on conditions
/\: Avoid use if possible
: Substantial influence, not suitable for use
: Not tested

Parts Body Seal Water resistant auto switch
Material Stainless steel | Aluminum* |Nitrile rubber| Fluororubber | Resin casing| Lead wire
chemichl Symbol | Stainless Al NBR FKM PBT PVC
(Concentration weight %, Temperature °C) steel 304 (~101060°C) |(-40t0 150°C) | (~10 t0 60°C)| (=10 to 60°C)
1 | Hydrochloric acid (20%, Room temperature) X X O © © @)
Inorganic 2 | Chromic acid (25%, 70°C) O X X ©) ©) O
salt 3 | Boric acid ©) X © © o ©)
4 | Sulfuric acid (30%, Room temperature) X X ©)] ©)] ©) O
5 | Phosphoric acid (50%, Room temperature) O X @) ©)] ©) O
6 | Ammonium hydroxide (28%) O O O X @) O
Inorganic | 7 | Sodium hydroxide (30%, Room temperature) ©)] X ©)] JAN €] X
alkali 8 | Calcium hydroxide A X ©) ©) © ©
9 | Magnesium hydroxide O O O ©) ©) ©)
10 | Acetylene ©) ©) ©} © @) ©)
Organic 11 | Formic acid (25%, Room temperature) O AN X VAN AN AN
solvent | 12 | Citric acid A X ©) ©) A O
13 | Acetic acid (10%, Room temperature) ©) A A O ©) O
14 | Lactic acid (5%, 20°C) O X © ©) ©] O
15 | Linseed oil ©} O ©) © JAN JAN
16 | Polassium chloride O A ©) ©) ©) ©)
17 | Calcium chloride O ©) ©) ©] O O
Others 18 | Mineral oil © ©) ©) ©) O A
(oil, gas, | 19 | Sodium hypochlorite (2%, Room temperature) O x x ©] ©) A
¢¢) 20 | sodium chioride o — o o o o
21 | Carbon dioxide © ©) ©) O O ©)
22 | Natural gas O O O ©) ©) ©)
23 | Boric acid O X ©) O O O

+ Unless noted otherwise, the solution concentration is in a saturated state.
= Chemical resistance is a guide that applies only to the stainless steel cylinder parts, and does not guarantee the performance of air cylinders (auto switches).
Be sure to perform a verification test before operating.

« ) Reference data

O

18



Be sure to read before handling.

Al

Stainless Steel Cylinder Series CJ5-S/CG5-S
Specific Product Precautions 1

Refer to safety instructions and actuator common precautions.

| Caution on Design |

] Operating Environment

AWarning

1. Note the weight of the stainless steel products.

Since the weight of stainless steel cylinders is approximately
1.5 to 3 times heavier than the standard products (with
aluminum body), be careful when calculating weight estimates.
Also, when mounting the cylinder on equipment where vibration
is expected, avoid using single side brackets such as the flange
type, and use double side brackets such as the foot type
instead.

/\ Caution

1. Adjust the speed control for the environment in
which it will be used.

Speed adjustment may be changed depending on the environment.
2.Dust may accumulate on this product’s mounting
screws and brackets in some operating conditions.
Measures must be applied depending on the operating

conditions when mounting.

| Selection |

AWarning

1. Generally, use nitrile rubber (NBR) seals with
liquids that do not contain chlorine and
sulphur, and use fluoro rubber (FKM) seals
with liquids that contain chlorine and sulphur.

However, depending on the type and the brand of liquid (such as
cleaning solvent) that splashes on the cylinder, the operating life
of seals may be reduced dramatically. In cases where special
additives are used, or where liquid caused trouble with the
conventional nitrile or fluoro rubber seals in the past, request an
investigation or set up a test period for the use of the seals.

2. Even the fluoro rubber specification may not be
applicable depending on the type of chemicals
and the operating temperature. Therefore, be
sure to verity the seal's applicability before use.

| Mounting |

A Warning

1. Do not rotate the cover.
If a cover is rotated when installing a cylinder or screwing a fitting
into the port, it is likely to damage the junction part with cover.

2. When using pins, apply grease, etc., in order to
prevent them from degrading of shape and rusting.

] Operating Precautions

A\ Warning

1. For details about operating precautions, refer to
Series CJ2 and Series CG1.

/\ Caution

1. If cleaning the rotating part, grease may leak out,
which shortens product service life. Thus, cleaning
must be as infrequent as possible.

2. If excess water gets into mounting holes, unwanted
bacteria may reproduce. Plug them with plug bolts or
external covers to avoid this.

19

O

A\Warning

1. Fully consider the compatibility of stainless
steel.

The corrosion resistance of stainless steel is not effective
against all media and corrosive environments. Corrosion
proceeds rapidly with strong hydrochloric acid, hydrofluoric
acid, and high temperature ammonium gas, etc. Therefore its
compatibility to the environment must be considered carefully.

2. Do not operate cylinders with auto switches
in environments where oil and chemicals are
used.

Contact SMC when operating in environments with coolants,
cleaning solvents, various oils or chemicals, as it may cause
adverse effects (faulty insulation, malfunction due to swelling of
the potting resin, and hardening of lead wires, etc) to auto
switches even in a short period of time. Even with the fluoro
rubber seal specification, the auto switch related parts (switch
body, mounting bracket, and built-in magnet) are identical to the
standard specifications. Therefore, consult SMC regarding the
cylinder's compatibility (such as chemical resistance) with an
environment (chemicals, etc.) before operating.

3. Do not immerse the cylinder in water or
chemicals.

When the cylinder is operated in a condition with water
pressure, the fluid leaks into the cylinder in the early stages. In
the worst case, the fluid may back flow inside the piping and
damage the solenoid valve.

/A Caution

1. Avoid installing and using a cylinder inside a food zone.

<Not installable>

Food zone ------..... An environment where food which will be
sold as merchandize, directly touches the
cylinder’'s components.

<Installable>

Splash zone -------- An environment where food which will not be
sold as merchandize, directly touches the
cylinder’'s components.

Non-food zone -----An environment where there is no contact
with food.

Food zone
Not installable

Splash zone
Installable

Non-food zone
Installable

2. When cleaning solvent or chemicals splashes on a
cylinder, the service life may be extremely
shortened. Please contact SMC for details.

3. When cleaning cylinders with steam, do it as quickly
as possible, keeping the cylinder’'s temperature
range in mind.

4. When cleaning cylinders with a brush, etc., do not
apply excessive force to the weaker parts, such as
auto switch lead wire, etc.

SVC



Be sure to read before handling.
Refer to safety instructions and actuator common precautions.

Stainless Steel Cylinder Series CJ5-S/CG5-S
A Specific Product Precautions 2

] Maintenance \

A Warning

1. If this cylinder is lubricated, it may cause malfunctions.
If grease other than designated is used, it may also cause
malfunctions.

* Order with the following part number when only the grease
for maintenance is needed.
Grease pack part number for stainless steel cylinders
Grease for food processing machines: GR-R-010 (10 g)

2. Do not wipe grease attached to the rotating part of
the air cylinder.
If grease attached to the rotating part is forcibly wiped off, it may
cause malfunctions.
If the cylinder is operated for a long period of time, the rotating
part may become black. In such cases, wipe the grease
attached to the rotating part and reapply fresh grease to enable
the cylinder to operate for a long period of time.
(Wipe the grease with water. Using alcohol or solvents may
damage seals.)

Precautions for series CG5-S

1. Sealant* is used on the threads of the
connecting sections of the cover and the
cylinder tube for air-tight construction. When
disassembling the cylinder, the old sealant
must be completely removed, and new sealant
must be applied before re-assembling.

« Loctite 542 (medium strength) or equivalent

2. 050 or larger bore size cylinders cannot be
disassembled.

When disassembling cylinders with bore sizes of 20 through
@40, grip the double flat part of either the head cover or the rod
cover with a vise and loosen the other side with a wrench or a
monkey wrench, etc., and then remove the cover. When
re-tightening, tighten approximately 2 degrees more than the
original position. (Cylinders with @50 or larger bore sizes are
tightened with a large tightening torque and cannot be
disassembled. Contact SMC when disassembly is required.)

O
:



A\ Safety Instructions

These safety instructions are intended to prevent hazardous situations and/or
equipment damage. These instructions indicate the level of potential hazard with the
labels of “Caution,” “Warning” or “Danger.” They are all important notes for safety

and must be followed in addition to International Standards (ISO/IEC)*1), and other

safety regulations.

Caution indicates a hazard with a low level of risk 1

A Cautlon: which, if not avoided, could result in minor or moderate I
injury. |
. Warning indicates a hazard with a medium level of risk |

A Warnlng: which, if not avoided, could result in death or serious
injury. |
|

Danger indicates a hazard with a high level of risk
which, if not avoided, will result in death or serious injury. |

/\ Danger :

| T SR |

AWarning

1. The compatibility of the product is the responsibility of the person
who designs the equipment or decides its specifications.
Since the product specified here is used under various operating conditions, its
compatibility with specific equipment must be decided by the person who designs the
equipment or decides its specifications based on necessary analysis and test results.
The expected performance and safety assurance of the equipment will be the
responsibility of the person who has determined its compatibility with the product. This
person should also continuously review all specifications of the product referring to its
latest catalogue information, with a view to giving due consideration to any possibility of
equipment failure when configuring the equipment.

. Only personnel with appropriate training should operate machinery
and equipment.
The product specified here may become unsafe if handled incorrectly. The assembly,
operation and maintenance of machines or equipment including our products must be
performed by an operator who is appropriately trained and experienced.

3.Do not service or attempt to remove product
machinery/equipment until safety is confirmed.

1. The inspection and maintenance of machinery/equipment should only be performed
after measures to prevent falling or runaway of the driven objects have been
confirmed.

2. When the product is to be removed, confirm that the safety measures as mentioned
above are implemented and the power from any appropriate source is cut, and read
and understand the specific product precautions of all relevant products carefully.

. Before machinery/equipment is restarted, take measures to prevent unexpected
operation and malfunction.

4. Contact SMC beforehand and take special consideration of safety
measures if the product is to be used in any of the following
conditions.

1. Conditions and environments outside of the given specifications, or use outdoors or in
a place exposed to direct sunlight.

2. Installation on equipment in conjunction with atomic energy, railways, air navigation,
space, shipping, vehicles, military, medical treatment, combustion and recreation, or
equipment in contact with food and beverages, emergency stop circuits, clutch and
brake circuits in press applications, safety equipment or other applications unsuitable
for the standard specifications described in the product catalogue.

3. An application which could have negative effects on people, property, or animals
requiring special safety analysis.

4.Use in an interlock circuit, which requires the provision of double interlock for possible
failure by using a mechanical protective function, and periodical checks to confirm
proper operation.

N

and

w

#1) 1SO 4414: Pneumatic fluid power — General rules relating to systems.
ISO 4413: Hydraulic fluid power — General rules relating to systems.
IEC 60204-1: Safety of machinery — Electrical equipment of machines.

(Part 1: General requirements)
1ISO 10218-1: Manipulating industrial robots - Safety.
etc.

Limited warranty and Disclaimer/
Compliance Requirements

The product used is subject to the following “Limited warranty and
Disclaimer” and “Compliance Requirements”.
Read and accept them before using the product.

Limited warranty and Disclaimer

1.The warranty period of the product is 1 year in service or 1.5 years
after the product is delivered, wichever is first.*2)
Also, the product may have specified durability, running distance or
replacement parts. Please consult your nearest sales branch.

2. For any failure or damage reported within the warranty period which is clearly
our responsibility, a replacement product or necessary parts will be provided.
This limited warranty applies only to our product independently, and not to any
other damage incurred due to the failure of the product.

3. Prior to using SMC products, please read and understand the warranty
terms and disclaimers noted in the specified catalogue for the particular
products.

+2) Vacuum pads are excluded from this 1 year warranty.
A vacuum pad is a consumable part, so it is warranted for a year after it is delivered.
Also, even within the warranty period, the wear of a product due to the use of the vacuum
pad or failure due to the deterioration of rubber material are not covered by the limited
warranty.

Compliance Requirements

1. The use of SMC products with production equipment for the manufacture of
weapons of mass destruction (WMD) or any other weapon is strictly
prohibited.

2. The exports of SMC products or technology from one country to another are
governed by the relevant security laws and regulations of the countries
involved in the transaction. Prior to the shipment of a SMC product to
another country, assure that all local rules governing that export are known
and followed.

/A Caution

1. The product is provided for use in manufacturing industries.

The product herein described is basically provided for peaceful use in manufacturing
industries.

If considering using the product in other industries, consult SMC beforehand and exchange
specifications or a contract if necessary.

If anything is unclear, contact your nearest sales branch.

A\ Caution

SMC products are not intended for use as instruments for legal
metrology.

Measurement instruments that SMC manufactures or sells have not been qualified by
type approval tests relevant to the metrology (measurement) laws of each country.
Therefore, SMC products cannot be used for business or certification ordained by the
metrology (measurement) laws of each country.

SMC Corporation (Europe)

’ASafety Instructions | Be sure to read “Handling Precautions for SMC Products” (M-E03-3) before using.

Austria @ +43 (02262622800 www.smc.at office@smc.at Lithuania @ +3705 2308118 www.smelt. It info@smclt.It

Belgium @ +32(0)33551464  www.smepneumatics.be  info@smcpneumatics.be | Netherlands @ +31(0)205318888  www.smcpneumatics.nl  info@smcpneumatics.nl
Bulgaria @ +359 (02807670  www.smc.bg office@smc.bg Norway @ +47 67129020 WWWw.Smc-norge.no post@smc-norge.no

Croatia @& +385(0)13707288  www.smc.hr office@sme.hr Poland & +48(0)222119616  www.smc.pl office @sme.pl

Czech Republic @& +420 541424611 www.smc.cz office @sme.cz Portugal @ +351 226166570  www.smc.eu postpt@sme.smces.es
Denmark @ +45 70252900 www.smedk.com smc@smcedk.com Romania @ +40 213205111 Www.smcromania.ro smcromania@smcromania.ro
Estonia @& +372 6510370 www.smepneumatics.ee  smc@smcpneumatics.ee | Russia & +7 8127185445 www.smc-pneumatikru  info@smc-pneumatik.ru
Finland & +358207513513  www.smc.fi smefi@sm.fi Slovakia @ +421(0)413213212  www.sme.sk office @sme.sk

France @ +33(0)164761000  www.smc-france.fr promotion@smc-france.fr | Slovenia @ +386 (073885412 www.smc.si office@sme.si

Germany @& +49(0)61034020  www.smc.de info@smc.de Spain @& +34 902184100 WWw.Smc.eu post@smc.smees.es

Greece @+302102717265  www.smchellas.gr sales@smchellas.gr Sweden @ +46 (0)86031200  www.smc.nu post@sme.nu

Hungary & +36 23511390 www.smc.hu office@smc.hu Switzerland & +41(0)523963131  www.smc.ch info@sme.ch

Ireland @& +353(0)14039000  www.smcpneumatics.ie  sales@smcpneumatics.ie | Turkey @ +902124890440  www.smcpnomatik.com.tr  info@smcpnomatik.com.ir
Italy & +39 0292711 www.smitalia.it mailbox @smcitalia.it UK @ +44(0)845 1215122 www.smepneumatics.co.uk - sales@smcpneumatics.co.uk
Latvia @& +371 67817700 www.smelv.lv info@smclv.lv

SMC CORPORATION Akihabara UDX 15F, 4-14-1, Sotokanda, Chiyoda-ku, Tokyo 101-0021, JAPAN Phone: 03-5207-8249 FAX: 03-5298-5362

1st printing SX printing SX 00 Printed in Spain

Specifications are subject to change without prior notice and any obligation on the part of the manufacturer.



